



Residential Solar





Commercial Solar



Solar Farms



Solar Pumps









Residential

System Capacity	Monthly Units Generated	Electricity Tarrif per unit	Monthly Power Savings	Average System cost (including Subsidy)	Approx Payback Period (Months)
3 Kw	360	9	3,240	₹130,000	40
5 Kw	600	9.5	5,700	₹240,000	42
10 Kw	1,200	10	12,000	₹470,000	39
20 Kw	2,400	10	24,000	₹910,000	38



25 years for **Solar Panels**



2 Years **Free Service**



Up to 90% or more reduction in electricity bills



Freedom from rising electricity tariffs



Pay for itself, with payback period of 3-4 years



Avail easy loan options

For Example 5 Kw - Your monthly Electricity bill is 5,700/-



Solar PV System Installation

2,40,000/-



Avail EMI facility



5 Years **EMI**

5,100/-



No Power Bill for 20 Years

13,68,000/-

Commercial / Industrial



"Save big, earn more—power your business with the sun!

System Capacity	Avg Units Generated per month	Electricity Tarrif per unit	Avg Savings in Power bill per Month	Avg System cost excluding GST	Approx Payback Period in Months
10 Kw	1,200	11	13,200	₹415,000	31
20 Kw	2,400	11	26,400	₹810,000	30
50 Kw	6,000	11	66,000	₹1,960,000	29
100 Kw	12,000	11	132,000	₹3,700,000	28

DITCH ELECTRICITY BILLS, MAXIMIZE PROFITS—SWITCH TO SOLAR TODAY!



Hospitals



Educational Institutions



Hotels



Industries



Apartments



Shopping Malls

BE A SMART LANDLORD

-GENERATE EXTRA

INCOME WITH

SOLAR POWER!

BOOST RENTAL INCOME-LET TENANTS PAY FOR SOLAR-POWERED ELECTRICITY CUT LOGISTICS COSTS-POWER YOUR EV FLEET WITH FREE SOLAR ENERGY!

Sunshine is the new FUEL

Zero emissions, infinite power!

OUR CLIENTS:

Adithi Solar provides reliable solar solutions for homes, businesses, and industries. With over 61+ satisfied customers across various districts, we are committed to delivering sustainable and efficient energy solutions.

Patanjali Wellness	ECMAS Group		
Poul Tech India	V & U Managmement		
Olive Planet Ltd	Unicorn Cultr Pvt Ltd		
Growth Factoryy Ltd	Super Healthy Intl.		
Veco labs Pvt Ltd	Novus Building Solutions		

BOOK YOUR FREE CONSULTATION TODAY



